MERCRUISER (5.7L EFI GM 350%-8 1333-2001]
Serial Mbr Range: 0L331593 THRU OL331391 ()

14

18

10

< SHIFT ERACKET [BRAWD EMGIMES) b w
Ref |Clazs|Part Description Qt Comment Footnote
2 16 98798 1| STUD [1/4% 2-1/81M.) 1

3 12381 1|RETAINER 1

4 23 92828 SPALCER 1

5 10 5367 |SCREW [5/16-18% 72 1M.) 1

A 18 32857 | PIN-COTTER 1

7 24 988580 SPRING 1

a2 12 BEV20[WASHER 2

9 12 35462 '"WASHER 4

10 11 13438 MUT [1/4-28) 2

11 16 96112 |5TUD 1

12 11 E3341 |NUT-TEE 1

13 13398 1|LEVER-SHIFT 1

14 10 13743 |SCREW-SHOULDER [5/16-183% 11

15 17 E2402 | PIN-CLEVIS 1

16 18 21071 |PIN-COTTER 1

17 10 BA74E 1|SCREW & LOCKWASHER [1/4-20(3




